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L. Buppose that lin% =b, find o + &
T

A 1
2. Find 1 .
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. Let f{z) be a positive differentiable function, and for any real numbers z,7, f(rz) = (f (x))". If
F(1) =2, find f(1).

4. Let g(z) = f:s te” dt. Find g"(0).
5. Find the smallest positive number A such that lnz < Az® for allz > 0.

6. Ewvaluate the following:
(a) /e-.r (lnz)ﬂdm
1
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(b) [- i z[|z%]|dz: where [[y]] denotes the (Yaussian function, that,is the largest infeger that is less

than or equal to v.
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. Find the Maclaurin series for f(z) = (TI—)Q Use thissseries to find the sum > (n- 1) (;) .
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. Solve the differential equation g* = %’ with ¢'(0) = y(0) = e.
0 g r— \ . A : 9z Oz
9. Suppose that z = f for some differentiable funetion f. Show that o—— + vy

d f . .
10. Suppose that the rate _Pt_ at which the consumer price index (CPI) changes is proportional to p with

dP : .
constant inflation rate &, thatis o kP. Find p(t) when p(0) = pp. About how many years will
it take the CPI to increase 50% ifthe inflation rate 190.057




